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Slack — Bring your team together with Slack, the collaboration hub for work.

int main()

{
("Hello World");

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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main( [] args) {

%%}Qi%:t .out.println("Hello World");
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v input

Command line arguments:

Standard Input: @ Interactive Console O Text
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import java.util.Scanner; a )

. . Pratibuse Lok
public class Main

{

public static void main(String[] args) {

int N, sum, i;

Scanner s = new Scanner(System.in);
System.out.printin("Please Enter N =");
N = s.nextInt();

sum =0, =3\
Whille’,-(i <= Njf{/ ZEDIRUEfTESND

sum=sum+i; | =15

|:|+1,

}
System.out.printf("goukei = %d¥n", sum);
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15



BISE2 . BANHBDTE 5.

Fraihuse Lok,

* Zjd) 7;&7 Q’Zuzb%L/\fC T*ﬁﬂﬁ&‘k
HDT7005 L=ZEB.
« -2y ROBINEZRHWS Z &
e J1—7Tw I\O)ELﬂblﬁ%/_57_ &(C while ;Z%__'.'fﬁb\
RDZRDDICEZiEDIRT .

B) 20,12 DEE: 4

16



J1—2Uw ROBE s &
 RADHIENERDDBIZHDFHi =

*m, n ODEALTIZEN,
m=2nd&9ddDE,
m Z&n TEIOERD] =075, FAAHEIE n
'm Z&n TEIDTZRD | >0735, m & n OEXRAH
L, [mZznTEOEHRD] & n OERANHEICE
LU

(728, n> ImZnTEI>TEFRDI HkDIID)

17



import java.util.Scanner;
public class Main

{

public static void main(String[] args) {

intm, n, r;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter m =");

m = s.nextInt();

System.out.printin("Please Enter n =");

n = s.nextint();

r=mon gz gt
while(r > 0) {

m =n;
n=r;
r=m%n;

}

D RDIIDMIRD,
ERTIENDODF 58D

System.out.printf("GCD = %d¥n", n);

Palebuse Lok
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import java.util. Scanner;
public class Main
{
public static void main(String[] args) {
Int sum, I, X;
sum = 0;
| = 0;
Scanner s = new Scanner(System.in);
System.out.printf("Please Enter x[%d] =", I);

X = s.nextint(); AZ
while(0 <= x AL

sum =sum + X;

=1+ 1;

System.out.printf(" Please Enter x[%d] =", I);
X = s.nextInt();

}

System.out.printf("sum = %d¥n", sum);
System.out.printf("%d / %d = %d", sum, i, sum /i);
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public class Main

{
public static void main(String[] args) {
inti, j;
fori=1;i<=9; i++){
System.out.printf("%3d:", i); :-%Df@b
for(j=1;)<=9;j++){ ==/ Y[ £
System.out.printf("%3d", i *j); SEEILEL
}
System.out.printin("");
}
}
}
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DrafFase Zak.

3 1++) |
.out.printf("%3d:", 1i);
N ,J){

.out.printf("%3d", i * j);

out pr‘lntln(" ||)
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z1=x1+1yl
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Import java.lang.Math; {
import java.util.Scanner;

public class Main Fratiuce 458
{
public static void main(String[] args) {

intn, j;

double x1, y1, x2, y2, theta;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter n =");

n = s.nextint();

System.out.printin("Please Enter theta =");

theta = s.nextFloat();

x1 = Math.cos(theta);

y1l = Math.sin(theta);

x2 = x1: AZ.
i wAE BOELRTENS

=1

while(j <= n) { =145

System.out.printf("(cos theta + i sin theta)%d = %8.3f + 1%8.3f¥n", |, x1, y1);

System.out.printf("cos %d theta + i sin %d theta = %8.3f + i %8.3f¥n", j, |,
Math.cos(j * theta), Math.sin(j * theta));

x1=x1*x2-yl*y2;

yl=x1*y2+x2*yl;

=i+




=/

AT

Please Enter n =

Please Enter theta =

(cos theta + i sin theta)l 0.995 + i
os 1 theta + 1 sin 1 theta = 0.995 + i
(cos theta + i sin theta)?2 0.980 + i
os 2 theta + i sin 2 theta = 0.980 + i
(cos theta + i sin theta)3 0.955 + 1

os 3 theta + 1 sin 3 theta 0.955 + i
(cos theta + 1 sin theta)d 0.922 + 1
os 4 theta + 1 sin 4 theta 0.921 + 1i
(cos theta + 1 sin theta)b 0.879 + 1
os 5 theta + 1 sin 5 theta 0.878 + 1
(cos theta + 1 sin theta)o6 0.828 + 1
os 6 theta + 1 sin 6 theta 0.825 + 1i
(cos theta + 1 sin theta)?7 0.769 + 1
os 7 theta + 1 sin 7 theta 0.765 + 1
(cos theta + 1 sin theta)8 0.703 + 1
os 8 theta + i sin 8 theta 0.697 + 1
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x1 .cos(theta);
yl .sin(theta);

) @ X1;
y2 = yi;

& =T
cFEDRUDBARATYVI TREINBC &

x1 x1 ) yl y2,

yl x1 y2 X2 yl;
ZET (X1 HEEEB, y1 H'EEER)
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(cosB+ 1 sin@)" = cos nB+ 1 sin n6 {
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(cosB+ i sinB)? = cos26- sin20+ 2i cosBsin 6
= c0s20+ i sin20
(cosB+ i sinB)3 = (cosB+ i sinB)? (cosB+ i sinB)
= (c0s206+i sin20) (cosb+ i sinB)
= c0s20c0s6- sin20sin6
+1 (c0s20sinB- sin26cos0)
= cos (26+0) + i sin (20+0)
= c0s30+ 1 sin30

CATEERICERD. HFNIFENEATIATED)
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